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HW 1.4C (VC) 79,80, 82-86

VOCABULARY: Fill in the blanks.

1. A relation that assigns to each L]LITIL]‘II X fmm a set of inputs, or doma _AADMA ifexactly one element y in a set of
outputs, or _[a_ﬂgﬂ_ is called a_fanc.H0n .
numcrnml qprhically ,algebaica).
2. Functions are commonly represented in four dliYLl‘Lll‘lIn\y 4 ’3 9 ?n)d '9 . J
3. For an equation that represents y as a function of x, the set of all values taken on by the variable x is
the domain, and the set of all values taken on by the variable y is the range. independent
4. The function given by aZnndM‘r
y_J2x—1, x<0
S = ¥+4, x=20
is an example of a function. Picce -wise

. In calculus, one of the basic definitions is that of a _d_,:&egr_a;a_ given by

. If the domain of the function fis not given, then the set of values of the independent variable for which the

expression is defined is called the Jmpjjgd_dnmallﬂ .

flx + h) — flx)

# 0.
I h#0

@uotenr

Find e diffecerce auotitnt. Simplify Your answer.

74) FK)= XX+l £(240) - £(2) h#0

h J
£(2+4h) = (24h) % - (2+h) +1 £(2)= (2)%- 2 +)
= (2+4h)(2+h) -2 -h +1 = 4-241
= H+2ht2h+ h?*-h -l = 3

h2 +3h +3

Dif. Quotent = h%+3h+3 -3 h*+3h = l(h+3) = |h+ 3
h h A h#0

80) €(X)=5xX-x*, £(5+h)-£(5) |
h

PR
€(5+h) = 5(5+h) - (54h)*
= A5+5h - (5+h)(s+h) 25+5h-25 -Ioh -h?
= as+5h-[as +sh+5h+h=]/ -h%-5h

"
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£(5) = 5(5) -(5)*
=36-a5 = O

DHY. Quotient; ~h2-5h ~ 0 _ _h2_5h - _(h+S) = —(m9)

h h h
= Fh-5, h#0
82) fix)= 4X*-2X | {£(Xth) -f(x) h#o
h
Vet TR
£(X+h) = 4(X+h)2 -2 (X+h) £00)= 4 X*-2x

= H(X+h)(X+h) ~2X-2h

=4[ x*+xh+xh +h*]1 -2x-2)
‘-'-"'If}mh’] -2X-2h
= 4yx2 4+ gxh+4h?-2x-2h

Diff. uoHenmt: 4x% +8xh +4h? —2X -2h - ( ¥ *-2%)

n
= 8¥h+4h*-2h = kK (X+4h-2)
h W
= 8)(+"”'\"2J h#o
- L 9(x)-9(3)
®3) 4(x)= x ) = 3 X¥F3
A
gex) = 2 g(3)= 33 = 3
Di€£ Quohient: ) _ AL X2 1 _ .’Lt q-x*
g' QI’ q _x—" - 9X" qx‘ - qxl.
X-3 X-3 X-3
= —(X2—9J
___QX: = -M)[ o —_, = | —=(X+3)
X-3 ) gx ? fy’!f 9x?
: X#3,0
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£ L) - £0)

84) F)= g2 » T v -, £ #I
fL) = 2‘-‘2 fc0) = .'1‘7_ = -?:‘ ==l
dift ouoHent 1 L. _ (-1) L4 (22) 4 442
4-2 -~ 42 | (€2) _ &2 ¢-2
— - O ————————————
t-| -/ 2-1
t;l.
— - . - - J t*'Jz
alng t2 LT &2

85) £0)=Vsx | £V~ £(S) | x#s
X-S

frx) = Usx fis) = U55 = 5

dief. quotient: |I8x -5 | x#5| % Cant simplicy gy tether
X-5

) £ X+, £ -£068)  x#8

X-8
£IK) = X2+ £8)= (8Y2+1 =39g% 4+ = Fgq+l
= 441 =5

2 7
D quottem: X 41 -5 = | xP-4  xsg
X-8 x-8

% Cant Simplify qny fvether
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